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HE: HASSE MEOUY B3
Sl A ME=T X EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A F=XH S =AY 22,000 22,000 0
o=sigd gR=ad 9,000
OME=XXNA 43 =& 8,000
oMa=XMEA FR2FA 5,000
SOOI A A e 1,000 1,000 0
301 L2 A F 1,000 1,000 0
MIIEBE43 1,000 1,000 0
O A HeAHl 1,000
C=0AE 2L (A~ &) 672,462 588,554 83,908
= 470,723
< 201,739
307 gl2tol & 672,462 588,554 83,908
= 470,723
< 201,739
10 ALl SXNAIEEE2EH EX 672,462 588,554 83,908
OL=0 A4S 2EHI(AZAE) 672,462
=2 470,723
< 201,739
M EXZ NE=X ZE208 23l 35,000 35,000 0
< 7,000
Al 28,000
307 glz2tol & 35,000 35,000 0
< 7,000
Al 28,000
11T MISXASEX 35,000 35,000 0
OAMslSX& N2 29| 35,000
= 7,000
Al 28,000
AgEX 2 23l 2,005,352 1,379,807 625,545
307 21201 A 2,005,352 1,379,807 625,545
05 RIZt2IEt = 1,153,336 789,026 364,310
OAMEEX2 2l 789,026
OMSIESXAEEAXHSIHL 364,310
10 ALSISXAIEEE2EHEX 852,016 590,781 261,235
OAMtEESX2 2l 590,781
OMSIEXAEESAXHSIHL 261,235
FHAHNE Ols==EXE N3 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
10 AL SXAIEEE2EH EX 20,000 20,000 0
OFHANANE OS2I N 20,000
CHOAE RSB (MBS F) 27,000 27,000 0
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05 RIZt2E = 27,000 27,000 0
OL=QAlE e 2el 27,000
AZIEX 2 A EZOY 2AXA 50,000 50,000 0
307 21201 A 50,000 50,000 0
11T MISAASER 50,000 50,000 0
OAM3=X2 HHEZOY 2Y X2 50,000
M E2X2 JIsE2 105,650 112,962 AT,312
< 31,695
Al 73,955
402 RI2EX 20| ™ 105,650 112,962 AT,312
< 31,695
Al 73,955
01 B2t t=2 AP E X 105,650 112,962 AT,312
OAMsI=X2 JlsE22 105,650
< 31,695
Al 73,955
H&RAHE A2 EE= XA 30,000 54,000 A24,000
301 et 8= 30,000 54,000 A24,000
01 MEI2EZE 405z 30,000 54,000 224,000
OXHAANE =2UAZEEZ N 30,000
SXAE & FLANEISEZAMS 100,000 100,000 0
402 RI2EXt20l ™ 100,000 100,000 0
01 It =2 At B X 100,000 100,000 0
O=XANE & FHAAANEIsEZAY 100,000
NAAMSHA 2L ES XA 40,000 40,000 0
307 21201 A 40,000 40,000 0
11T AL SXAEE = 40,000 40,000 0
OXNSAB M2 E S 40,000
IRASHSAY 69,000 67,000 2,000
< 9,000
Al 60,000
307 glz2tol & 69,000 67,000 2,000
< 9,000
Al 60,000
11T M SRASE EX 69,000 67,000 2,000
OJIRASHS AL 69,000
< 9,000
Al 60,000
MIISXAIE SAX A 2 MW= 4,000 0 4,000
201 L2l 4,000 0 4,000
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307 QI2t0| & 19,200 0 19,200
11 A EXAIEEX 19,200 0 19,200
OASIEXNAI E41W=H XS 19,200
HNAES MHIA XL 62,508,613 53,609,536 8,899,077
= 52,270,084
Xl 2,237,564
= 4,433,228
Al 3,567,737
222X XNEAS 1,808,000 907,000 901,000
= 1,446,400
= 144,640
Al 216,960
301 et A= 1,808,000 907,000 901,000
= 1,446,400
= 144,640
Al 216,960
01 AISIE & A 452 1,808,000 907,000 901,000
O22=2XN XNSAY 1,808,000
= 1,446,400
= 144,640
Al 216,960
MNASS MEoty X 50,000 50,000 0
301 et A= 50,000 50,000 0
01 Al E & A 462 50,000 50,000 0
ONASES MEOHH I 50,000
HEA XNGAISEXNEAH &H 50,000 50,000 0
307 QI2t0| & 50,000 50,000 0
10 A SXNANEEHESIHEX 50,000 50,000 0
OF=Al XA 2XNEAM 299 50,000
M2 =SX2Y AR AMNESAA W= 16,000 16,000 0
307 2I2t0| A 16,000 16,000 0
11 A EXAIEEX 16,000 16,000 0
OAMI2X Y SAL L AIESAIAL UR 16,000
AAAUOIIE dMII=2 A 180,000 27,000 153,000
301 LBt A= 180,000 27,000 153,000
01 Al E & A 462 180,000 27,000 153,000
OY9RAUMNOILIE EII=2 XA 180,000
222X HAHAML (S At 2EIAF XI) 285,000 276,798 8,202

_60_




SN XD
HE: HASSE MEOUY B3
©9l: NASS AHlA X8 EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 142,500
Al 142,500
101 2121 d| 285,000 276,798 8,202
= 142,500
Al 142,500
03 RIAHLZ2ZZ2XES 285,000 0 285,000
OESgr&el AtdlAF 21 21| 285,000
= 142,500
Al 142,500
2Z22XNHEHAHME (At 22IALS 2HH]) 24,000 21,129 2,871
= 12,000
Al 12,000
201 et d| 9,600 8,452 1,148
= 4,800
Al 4,800
01 AP 2t 2| H| 9,600 8,452 1,148
OZ2ZEXNHLHMAME (At 22 ALY 2HH|) 9,600
= 4,800
Al 4,800
301 et A= 14,400 12,677 1,723
= 7,200
Al 7,200
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Al 92,000
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= 47,247,266
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SRl CEMENY X EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 359,700 326,700 33,000
= 179,850
& 71,940
Al 107,910
11T A EXAIEEX 359,700 326,700 33,000
oOLoldXiel =sHI|2 Mol X 359,700
= 179,850
= 71,940
Al 107,910
ALIEE 29| 754,018 630,000 124,018
= 63,000
Al 691,018
307 212t0| ™ 754,018 630,000 124,018
= 63,000
Al 691,018
10 AISIEXAIEEHE2IHIEXR 754,018 630,000 124,018
OAMULONHEE 224l 630,000
& 63,000
Al 567,000
OAZEXNANESAMIHRIMA 124,018
LoRa NAEMNY &9 90,000 90,000 0
301 et A= 90,000 90,000 0
01 Al B & A 26 2 90,000 90,000 0
okoRrza NIASAMY 29 90,000
LolgHel OrsE ALY 606,500 550,000 56,500
o= 4,125
Al 602,375
307 212t0| & 606,500 550,000 56,500
o=} 4,125
Al 602,375
11 A EXAIEE X 606,500 0 606,500
OLoldNel DrAAY 590,000
OLol XJsSA &=t 16,500
o= 4,125
Al 12,375
LOFHANRME 2H 166,800 161,000 5,800
307 QI2t0| & 166,800 161,000 5,800
05 QIZtREZ 166,800 161,000 5,800
OLOFAXNIMLME 2 166,800
AMLIHEE SAIL} EELE 24,120 24,120 0
= 7,236
Al 16,884
307 S12t0| & 24,120 24,120 0
= 7,236
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 16,884
11T MISRASEX 24,120 24,120 0
OAMLIEY BAXR S8 24,120
S 7,236
Al 16,884
tHet-olsl 2Edl X2 68,820 68,820 0
307 21201 A 68,820 68,820 0
10 ALl SXAIEEE2EH EX 68,820 68,820 0
Olfsgt-olsl 23 29H XA 68,820
Lolg 243 ArY 67,142 51,840 15,302
< 16,785
Al 50,357
307 glz2tol & 67,142 51,840 15,302
= 16,785
Al 50,357
11T M SXAISE EX 67,142 51,840 15,302
O3 E4d3AY 67,142
< 16,785
Al 50,357
DRSNS AFHOIE ALY 10,000 15,000 A5,000
307 21201 A 10,000 15,000 A5,000
11T MISAASER 10,000 15,000 A5,000
ODNEX&EIY I FHIOIE ALY 10,000
LSXNEAML SXXH 10,000 10,000 0
307 21201 A 10,000 10,000 0
02 AtFAAFE X 10,000 10,000 0
O =XNBEMIU=XXA 10,000
Lol ssHEE EXNMHY 200,000 0 200,000
401 Al HI K 201 I 200,000 0 200,000
01 A& HI 200,000 0 200,000
OSSN MatEAT LoUNe BEEY
& EXNOHY 200,000
SAHL0 MOt 22| X# 33,000 0 33,000
307 21201 A 33,000 0 33,000
11 AL SXAEE = 33,000 0 33,000
O=AHEZAMO JtAEOIH &X 33,000
22" 2sH st XE 30,000 0 30,000
307 glz2tol & 30,000 0 30,000
11T M SXAISE EX 30,000 0 30,000
oZ2Y SsH g4 XA 30,000
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A2 AL XA 85,000 85,000 0
HHHOlE At 10,000 10,000 0
201 LB-2d| 10,000 10,000 0
03 A2 Z Hl 10,000 10,000 0
OUBIOIE A 10,000
Lot =X 50,000 50,000 0
201 L2l 50,000 50,000 0
03 A2 Z Hl 50,000 50,000 0
OLQlo & A 20,000
OL2 AHOIE=Z UHE 10,000
OLQ=ER JI2 SAL A3 20,000
LOoIHOIEE E43 8,000 8,000 0
307 21201 A 8,000 8,000 0
11T AISI S XA E X 8,000 8,000 0
ONOIEE =2BXN &3lu= 8,000
CorEo e AXNMS 7,000 7,000 0
201 2et24d] 7,000 7,000 0
03 A2 S HI 7,000 7,000 0
owo&Eod HBAHS 7,000
= 23 FAAY 10,000 10,000 0
201 £B-2d| 10,000 10,000 0
03 A2 Z Hl 10,000 10,000 0
OsSEst& e AtY 10,000
LoskAd XA 9,692,814 8,851,181 841,633
= 329,296
< 3,666, 142
Al 5,697,376
LolMEAlL K& 4,900,500 4,921,261 AN 20,761
< 3,430,350
Al 1,470,150
301 L2 A= 4,900,500 4,921,261 AN 20,761
< 3,430,350
Al 1,470,150
01 MEI2BZE 06z 4,900,500 4,921,261 220,761
OLolMeAld XI& 4,900,500
< 3,430,350
Al 1,470,150
LOol=Ra SAM EEE 127,920 127,920 0
= 38,376
Al 89,544
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Al 89,544
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OLQ=EX2 SAXR SESE 127,920
< 38,376
Al 89,544
CQIMEAIE SML SEE 383,970 285,000 98,970
< 115,191
Al 268,779
307 21201 A 383,970 285,000 98,970
< 115,191
Al 268,779
11T M3 SXASEEX 383,970 285,000 98,970
OLQMEANE SAL SE€=H 383,970
< 115,191
Al 268,779
LoI=X2 249l 2,940,600 2,667,600 273,000
307 gl2tol & 2,940,600 2,667,600 273,000
05 RIZHRI & 3 2,940,600 2,667,600 273,000
oLel=Exa 29l 2,667,600
OA2SXAIESARH A 273,000
Lol dAE20d 29 N 209,400 209,400 0
< 18,000
Al 191,400
307 21201 A 209,400 209,400 0
< 18,000
Al 191,400
11T AL SXAEE X 209,400 209,400 0
Ok =Xz g2y 2N 209,400
< 18,000
Al 191,400
LOIStEE 2sHYMEIA 22l A 120,000 120,000 0
< 36,000
Al 84,000
307 glz2tol & 120,000 120,000 0
< 36,000
Al 84,000
11T M SRASEEX 120,000 120,000 0
OLQSEdE 2SI AMHIA 22lAt 120,000
< 36,000
Al 84,000
MIHHEES A XA 40,000 30,000 10,000
307 21201 A 40,000 30,000 10,000
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HE2H O 0l AIAIBHE XIS AHAF B4 22,500 22,500 0
301 et A= 22,500 22,500 0
11 J|EtE A S 22,500 22,500 0
OHE=HE MItQl AAIHIE XIS AFAF B4 22,500
SHEQ 2=2d| NS 43,000 43,000 0
301 LBt A= 43,000 43,000 0
01 AISIE & A 452 43,000 43,000 0
OSAHLQ =22=Hl XN 43,000
LOIHOIANWAE 29 142,216 187,200 N44 984
& 42,662
Al 99,554
307 2iz2to| A 142,216 187,200 N44 984
& 42,662
Al 99,554
10 MM SAANEEHESIGHEX 142,216 187,200 N44 984
OLOQHOIAHNAME 2 142,216
o= 42,662
Al 99,554
SEHLESZ0N SB0|AY 35,100 32,060 3,040
J| 17,550
Al 17,550
307 QI2t0| ™ 35,100 32,060 3,040
J| 17,550
Al 17,550
10 A SEXNAEEHESIH EX 18,600 0 18,600
OSAHLoS30d sSE0] AtY 18,600
J| 9,300
Al 9,300
11T AISIEXAIEEX 16,500 32,060 A 15,560
OSsSAHoSZ0od SE20| AIY 16,500
J| 8,250
Al 8,250
THOIEDI| @D 2 XA AS RF A A 86,148 0 86, 148
= 43,074
= 8,614
Al 34,460
307 QI2t0| ™ 86,148 0 86, 148
2 43,074
= 8,614
Al 34,460




AN MESID
Hu: Lo=] ZX
SRl I =X X EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 ALSISXAIEEE2EHEX 86,148 0 86,148
OMILEI LRI 2 XA A XHE S 86,148
= 43,074
< 8,614
Al 34,460
I JFALA Bl A ALY 25,196 18,815 6,381
= 17,638
< 3,023
Al 4,535
307 21201 A 25,196 18,815 6,381
= 17,638
= 3,023
Al 4,535
11T ALSI S XA E = 25,196 18,815 6,381
OHIIJLAL MBI A ALY 25,196
= 17,638
< 3,023
Al 4,535
COUSXAL 25 L Js52Y 1,076,446 990,040 86,406
2 519,223
< 193,766
Al 363,457
LsXNAE JIs2Z 1,038,446 955,040 83,406
= 519,223
< 155,766
Al 363,457
402 BI2FX=20| M 1,038,446 955,040 83,406
= 519,223
< 155,766
Al 363,457
01 It AL E X 1,038,446 955,040 83,406
OLQo=XAE JIsBZOIES) 995,946
= 497,973
< 149,392
Al 348,581
OLQ=XAAE JIsEZ (ML) 42,500
= 21,250
< 6,374
Al 14,876
LoRIFANE JIsEE 38,000 35,000 3,000
< 38,000
402 QI2H X201 M 38,000 35,000 3,000
< 38,000
01 It =2 AL E X 38,000 35,000 3,000
OLQRAANE JIsE2Z 38,000
< 38,000
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SN XD
N 2)2EB
SERNCE 1 CERED
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
=Jt2& 22 2,366,280 1,270,000 1,096,280
< 290,280
Al 2,076,000
2E22 2,366,280 1,270,000 1,096,280
S 290,280
Al 2,076,000
SEUA & B 26,000 26,000 0
201 2et= Sl 6,000 6,000 0
03 #Ar2EHI 6,000 6,000 0
OEE A& dA2e s357Y 6,000
307 glztol & 20,000 20,000 0
M AMSIMSER 20,000 20,000 0
OFz3d =ERA HHH=9g 2,000
©0z=%g8 F2H X & 8,000
©6.258 Y A & H=EEF As 10,000
BEAL Y L 24 33,000 37,000 ~4,000
206 =8l 3,000 3,000 0
01 M= Hl 3,000 3,000 0
o=gME ¥ =3+ LAN= 3,000
401 AIEHIZ 2 0HHI 30,000 34,000 24,000
01 A€ dl 30,000 34,000 24,000
o=ZRX HI=ZM= 2,000
O=ZZ R 223 4,000
O=g=zsx88 2234 4,000
OEEANE EHl & 2= 20,000
SECH AR ALY 60,000 60,000 0
301 LELE A= 60,000 60,000 0
01 MBI2FH+0l3 60,000 60,000 0
OE2HH Xl At 60,000
22+ A& 1,510,280 910,000 600,280
< 290,280
Al 1,220,000
301 Lot A=z 1,510,280 910,000 600,280
< 290,280
Al 1,220,000
01 AHBIEZH 0= 1,510,280 910,000 600,280
o2z & 1,510,280
0=ZE=¢ 1,490,280
< 290,280
Al 1,200,000
ONYAZS 20,000
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SN XD
N 2)2EB
SERNCE 1 CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
dFAEZS 2 A 500,000 0 500,000
401 Al&HI & 28I 500,000 0 500,000
01 A& HI 500,000 0 500,000
OXF=A BEE232 HY 500,000
MIHHMEZSHEEZ XA 234,000 234,000 0
307 21201 A 234,000 234,000 0
03 QIAHNHE2IHIEE 234,000 234,000 0
oZ=3l &= AKX 3 26,000
OO0 ZZ3HEFAKX S 26,000
OdESZEdREATFAKE 26,000
Od=SZZ0ILsH=FAIKXSE 26,000
ORB=E X &H=AlK 2 26,000
ONZHMELIME=AIX S 26,000
OS+UdRRBXNSEFAIKXE 26,000
O6.25&8 8RS Xtal ™= AKX 3 26,000
OEYNMENIS HEFAIKSZ 26,000
OIAA R &R 3,000 3,000 0
301 LEtE LS 3,000 3,000 0
01 MEIBEZE 05z 3,000 3,000 0
OSJA& R =& XI& 3,000
ojel =x5T 36,589,978 34,810,924 1,779,054
=2 20,586,296
< 4,362,403
Al 11,641,279
ZOHel MEotdE X 24,029,821 23,229,952 799,869
= 15,775,554
< 2,874,285
Al 5,379,982
ZOH=R LXel XA 486,576 471,676 14,900
= 243,288
< 97,315
Al 145,973
307 21201 A 486,576 471,676 14,900
= 243,288
< 97,315
Al 145,973
1A S XA E X 486,576 471,676 14,900
ZOHI=X LXel XA 486,576
@2 2d| 486,576
= 243,288
< 97,315
Al 145,973
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AN MESID
M HOe =2XNE5E
SOl FONQ MEOIE X (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ZOoHQl ety dXxtel X 892,044 841,698 50,346
= 446,022
< 178,409
Al 267,613
101 @124 Hl 892,044 841,698 50,346
= 446,022
< 178,409
Al 267,613
04 D12t Z2XEES 892,044 841,698 50,346
OZOHQ Letd dXtel X 892,044
= 446,022
= 178,409
Al 267,613
Zoiel ME2XJ|7 ue 21,983 25,350 A 3,367
= 17,586
< 1,759
Al 2,638
301 et a3z 21,983 25,350 A 3,367
= 17,586
< 1,759
Al 2,638
01 AR 2Z A5 3 21,983 25,350 A 3,367
OO MHEEEXI|F W 21,983
= 17,586
< 1,759
Al 2,638
Fope olzH X& 730,000 810,000 A80,000
= 584,000
< 58,400
Al 87,600
307 glz2+ol & 730,000 810,000 A80,000
= 584,000
< 58,400
Al 87,600
01 2222l 730,000 810,000 A 80,000
OFoel o=l XA 730,000
= 584,000
< 58,400
Al 87,600
ZOHe S5 &AEH N 9,204 10,026 AB22
= 4,602
< 1,841
Al 2,761
307 21201 A 9,204 10,026 AB22
= 4,602
< 1,841
Al 2,761
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Off &t 24
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i
2m

= N H
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2,
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= N H
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000
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= N W
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120,
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= M W
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= M
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16,
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7

20,830
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=
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7,
17
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881
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20,830

3,051

A S XA E X

OB 222

= M
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,881
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,164
717

20,830

3,051

= MW
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,800
,700
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= MW
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,800
,700
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= N H
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800
700
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m
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2N
X ZH -
L= B o

el

!

o=

= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ZOHe BXo2 HEX B2 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
11T M SXASEEX 12,000 12,000 0
OFMe =XII2 32X E2 12,000
HOofe ESEX FIXNE ALY 376,702 376,702 0
< 113,009
Al 263,693
307 21201 A 376,702 376,702 0
< 113,009
Al 263,693
05 RIZt2IE = 376,702 376,702 0
OXZML 52X FIAA MY 376,702
< 113,009
Al 263,693
HeZoHel s4HE K& 86,000 17,000 69,000
= 16,100
< 2,070
Al 67,830
301 LAz 86,000 17,000 69,000
= 16,100
< 2,070
Al 67,830
1MIIEBESS 86,000 17,000 69,000
OW&HEMe E4&HIE K& 86,000
= 16,100
< 2,070
Al 67,830
ZOHQ el EsHYE 29 50,000 50,000 0
307 glz2tol & 50,000 50,000 0
05 RIZHRI &t 3 50,000 50,000 0
OZOMQ el BSHIE 23 50,000
ZOHOtS MHEI =AY 1,597,811 1,487,061 110,750
= 1,118,468
< 159,781
Al 319,562
307 21201 A 1,597,811 1,487,061 110,750
= 1,118,468
< 159,781
Al 319,562
05 RIZt2IEt = 1,597,811 1,487,061 110,750
OZOotEs HEXZALS 1,597,811
= 1,118,468
< 159,781
Al 319,562
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X ZH
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=
Zojol M
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= Hn W
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= N H
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= N W
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=z N W
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= W
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=z N H
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M S 2 X' J_ll‘

o=

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

307 21201 A

= Hn W

8,604,786
6,023,350
1,032,574
1,548,862

8,678,295

AT73,509

= N H

8,604,786

8,604,786
6,023,350
1,032,574
1,548,862

8,678,295

AT3,509

Zof 2!
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H0
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60,000

60,000

60,000

60,000

60,000
60,000

60,000

{oh
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0
O
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0
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e
|
1
0z
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x
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>
114
Ho
08

15,000

15,000

15,000

15,000

15,000
15,000

15,000

= Hn

31,680
22,176
3,168
6,336

31,680

307 21201 A

= 0 H

31,680
22,176
3,168
6,336

31,680

o
o
o
S
0

©
e
nq
0 m
2
e
il
10
0z
o
0z
o0
=
0

= N W

31,680

31,680
22,176
3,168
6,336

31,680

= N W

12,000
9,600
720
1,680

16,400

24,400

307 glztol &

=z N W

12,000
9,600
720
1,680

16,400

A4,400

11T M2 SXAIEE X
o

oggHM 4

ol

del MHIAXIE

o

Jdel JEEXHEXE

= MW

H

12,000
2,400

1,920
144
336

9,600
7,680

16,400

A 4,400
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2N
X ZH -

L= B o
el

!

o=

(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 576
Al 1,344
AZHEOHQl OHOFAF HtA AL 143,560 42,888 100,672
= 114,848
< 11,485
Al 17,227
307 glz2tol & 143,560 0 143,560
= 114,848
= 11,485
Al 17,227
11T MISRASER 143,560 0 143,560
OAIZZO0HQl QFOFAF IHA A 143,560
= 114,848
< 11,485
Al 17,227
Zopel bEXMH 22 124,450 150,000 A25,550
< 37,330
Al 87,120
307 21201 A 124,450 150,000 A 25,550
< 37,330
Al 87,120
11T MISRASEEX 124,450 150,000 A 25,550
OFMe IH=EXNJAEH 29 124,450
< 37,330
Al 87,120
SSHMHL SSAEMHA 97,744 0 97,744
= 97,744
307 glz2tol & 97,744 0 97,744
= 97,744
11T M SRASE EX 97,744 0 97,744
O=THM SSHEMHIA 97,744
= 97,744
ZHSSW 2Hl=s sXE MHIA 30,000 0 30,000
307 glz2+ol & 30,000 0 30,000
11T MISRASEX 30,000 0 30,000
OXMs=l 2Hels 2sXE MHIA 30,000
SAIE L THIIHEOMHA SR A EY 60,000 0 60,000
207 RO 60,000 0 60,000
01 A7 39l 60,000 0 60,000
OFM HNF=AE EALs 24 60,000
LML NEFAXA 9,700 0 9,700
= 6,790
< 582
Al 2,328

_80_




PN HESIIB

Hu: ool 2N
el Mol MEOHY X @ (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
307 2izto| A 9,700 0 9,700
= 6,790
& 582
Al 2,328
11T A EXAIEEX 9,700 0 9,700
oOggEMR JIIEEAXS 9,700
= 6,790
= 582
Al 2,328
o BMNEHEH 29 250,000 0 250,000
= 100,000
Al 150,000
307 212t0| ™ 250,000 0 250,000
= 100,000
Al 150,000
11 A EXAIEEX 250,000 0 250,000
OFOMC BMNFRHE 29 250,000
& 100,000
Al 150,000
HMF=A HOHUEXRAIAG 29 5,000 0 5,000
201 B9 5,000 0 5,000
01 AF2 2t 2| H| 5,000 0 5,000
ONFAl HOHU=EXRIS &4 5,000
ZHOfQl Al KR 534,468 632,135 N97,667
= 32,400
& 81,653
Al 420,415
AMZEOQ EXW= 11,249 11,267 N 18
& 3,375
Al 7,874
307 2iz2to| A 11,249 11,267 AN 18
& 3,375
Al 7,874
11T A EXAIEEX 11,249 11,267 N 18
OAZEOC EXU= 11,249
o= 3,375
Al 7,874
ool ol L SHAL 15,000 12,000 3,000
201 et 9| 15,000 12,000 3,000
03 A2 H| 15,000 12,000 3,000
ORI Y AL 15,000
ool AsHM =3 10,000 10,000 0
307 2Iz2t0| & 10,000 10,000 0




2N
X ZH -
L= B

el

ME=7
Zojel =NEA
Zojel SR X

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
11 ABI =X A2 X 10,000 10,000 0
O&OMe ASNM=CHS 10,000
d= O MsHE ZHOMXA 8,000 8,000 0
301 dEtE A= 8,000 8,000 0
09 HAIAHI EA = 8,000 8,000 0
oOd= H0e XM=sUa EFIXA 8,000
M= R &=d NSHEHZ 2F 15,000 15,000 0
307 212t01 & 15,000 15,000 0
11T A SEXAIEEX 15,000 15,000 0
O&= FOQ &= NSEMHEHF 2 15,000
M= AIZEOIAES EF=AIXS 15,000 15,000 0
307 212t01 & 15,000 15,000 0
11 AMISAAIEE X 15,000 15,000 0
O&= AZHMHUAESZ HF=AKXI 15,000
M= NMEOHC ASZ HF=AIKX S 16,000 10,000 6,000
307 QI2t0| ™ 16,000 10,000 6,000
11 A SAAEE X 16,000 10,000 6,000
ON=E XHMEOHC HAESZ NMFAIKXI 16,000
d5 s0tlEs dFAKXS 14,000 14,000 0
307 QI2t0| ™ 14,000 14,000 0
11T A SXAIE E X 14,000 14,000 0
ONE =083 dFAIXS 14,000
M= HHUR2F MFAIKXZF 5,000 5,000 0
307 212t01 & 5,000 5,000 0
11 AMIASAAEEX 5,000 5,000 0
o= EMWARER2F HMFAIXZ 5,000
ZOHQIEH AFR A XI& 25,000 18,000 7,000
307 212t01 & 25,000 18,000 7,000
10 Al SEXAIEEE2IHIEBX 25,000 18,000 7,000
OXOMASH AIRA X 25,000
20He EENEHEH 29 15,000 15,000 0
307 QI2t0| ™ 15,000 15,000 0
11 A SEXNAEE X 15,000 15,000 0
OXFOMQC ABHEtHE 29 15,000
NAMEHCES 23ME L HOHUI 6,000 6,000 0
307 QI2t0| M 6,000 6,000 0
11T A SEXAIE EX 6,000 6,000 0

_82_




PN HESIIB

g Foje sxsd

Ch s Aol Sl X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OXM&EOHCIES S3IME &L HOHAUS 6,000
M= DEHMES EFAIXNSG 5,000 5,000 0
307 QI2t0| & 5,000 5,000 0
11T A EXAIEEX 5,000 5,000 0
ONE NEXHHASE S MFAIKXI 5,000
8= AMAHENCIES EFAIKXSE 5,000 5,000 0
307 212t0| & 5,000 5,000 0
11 A EXAIEEX 5,000 5,000 0
O&= AMAEHES HF=AXZ 5,000
HFA HOHQAEH =SHES 27,000 109,000 A 82,000
307 2iz2to| & 27,000 29,000 A 2,000
10 M SAANEEHESIGHEX 27,000 29,000 A 2,000
OXF=AIZOHRIEH EHE S 27,000
NEEHMC NHANSHEH 2 121,539 121,539 0
= 24,307
Al 97,232
307 QI2t0| & 121,539 121,539 0
= 24,307
Al 97,232
10 MM SAANEEHESIGHEX 121,539 121,539 0
OXAEEOHC XNEXNJALAEH 2H 121,539
= 24,307
Al 97,232
K HEOH HOAIE ANJHEH 29 90,781 117,930 N27,149
o= 24 511
Al 66,270
307 212t0| & 90,781 117,930 AN27,149
o= 24 511
Al 66,270
10 M SXNAEEHESIGHEX 90,781 117,930 N27,149
OX MZOC EHoYAME XNRAHMYH 299 90,781
= 24 511
Al 66,270
Zofel ofstw 29 A 87,399 87,399 0
&< 26,220
Al 61,179
307 2iz2to| A 87,399 87,399 0
& 26,220
Al 61,179
11T AISIEXAIEEX 87,399 87,399 0
OZ&ofel orstn &9 XN 87,399
o= 26,220
Al 61,179
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SN MEEXD
HE: Zoje =SXNE
Sl Zojel M XIS (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

o

st= ZOURR23 MFAIXE 2,000 2,000 0

307 21201 & 2,000 2,000 0

A S XA E X 2,000 2,000 0

Oet= FMARZ23 HMFAIKXE 2,000

G WIA 40,500 45,000 A 4,500
32,400
3,240
4,860

= W

307 glztol & 40,500 45,000 A4,500
32,400
3,240
4,860

= MW

11 AL S XA
OO0 oM

HT

BN 40,500 45,000 A 4,500

40,500
32,400
3,240
4,860

e

EJ
o
=
114

= W

(0)al

fOHel SXAIE X3 11,887,689 10,640,679 1,247,010
, 759,342
, 366,965

761,382

= W

,932,596 4,030,080 902,516
,452,817
295,956
1,183,823

W N|O AN o

= N H

307 glz2tol & 4,932,596 4,030,080 902,516
3,452,817

295,956
1,183,823

= N H

10 A SXAEHE2SEH

g
OFZOML AFAE 2SHl N

22X

,932,596 4,030,080 902,516
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,452,817
295,956
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W A~

= N

0
2
e
ikl
18]
=
o
=
X
Ho
02
==

639,479 643,326 N 3,847

127,896
511,583

= M

307 21201 & 639,479 643,326 N 3,847

127,896
Al 511,583

H

10 AFRIS XA EHE 23

QT HAE AL

639,479 0 639,479
] 639,479

127,896
Al 511,583

02 A

MO HT

H

024
2
o
I
S
HT
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>
x
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02

, 267,721 946,839 320,882
= 215,849
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X ZH -
L= B

el

ME =0
ol sXsd
Zofel SXAIE XA

SN FH-SA(EN) - MBAY - BES
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i
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= M

1,267,721
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x
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S
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759,703
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946,839
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0z
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1,720,321
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361,267
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= M

327,960

98,388
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327,420
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= M

327,960

98,388
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327,420

540
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327,960
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PN HESIIB

g Foje sxsd

9l FOHQ ZXAIE XY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

ZOHQ SSHEINE 29 275,000 360,500 A 85,500
< 27,500
Al 247,500

307 glz2tol & 275,000 360,500 A 85,500
= 27,500
Al 247,500

10 AL SXAIEEE2EHEX 275,000 360,500 A 85,500
OXHe SsdEIE 293 275,000
< 27,500
Al 247,500

ZOHQ =3tSAHH 294 203,012 147,666 55,346
< 25,220
Al 177,792

307 21201 A 203,012 147,666 55,346
< 25,220
Al 177,792

10 ALSISXAIEEE2GHEX 203,012 147,666 55,346
OA2SXIAESARH M A 31,912
OZMQ =3tSAHHH 29 171,100
< 25,220
Al 145,880

ZOHQ MRSHH 29 249,322 199,614 49,708
< 42,249
Al 207,073

307 glz2+ol & 249,322 199,614 49,708
< 42,249
Al 207,073

10 ALSISXAIEEE2EHEX 249,322 199,614 49,708
OA2SXAESALRH 2 & 38,082
OZMY HESHH 2 211,240
< 42,249
Al 168,991

ZOoer=X2 23l 998,487 804,760 193,727
< 172,488
Al 825,999

307 glz2tol & 998,487 804,760 193,727
= 172,488
Al 825,999

10 AL SXAIEEE2EHEX 998,487 804,760 193,727
OMEBISXIAESAAH LA 136,044
OFel=X2 24| 862,443
< 172,488
Al 689,955

ZOHQ MIOt=EXEH =29 155,169 123,420 31,749
S 19,842
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PN HESIIB

g Foje sxsd

&2 ZoHe SXAE K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

Al 135,327

307 21201 A 155,169 123,420 31,749
< 19,842
Al 135,327

10 ALSISXAIEEE2EHEX 155,169 123,420 31,749
OA2SXAESARH A 22,899
OFOMe MI=EXNEH =294 132,270
< 19,842
Al 112,428

FAUQAALE HEE2Id XA 13,200 12,886 314
< 3,960
Al 9,240

307 gl & 13,200 12,886 314
< 3,960
Al 9,240

11T M Z2XAIS EX 13,200 12,886 314
OFANQLAANML MEZz)d X 13,200
= 3,960
Al 9,240

FUQAAL MEel HAH| 5,775 5,580 195
< 1,732
Al 4,043

307 21201 A 5,775 5,580 195
< 1,732
Al 4,043

11T M3 SXAISEEX 5,775 5,580 195
OFANUQLAL MEl AHXH| 5,775
< 1,732
Al 4,043

HAQUANM S BAX SELY 55,080 104,729 £49,649
< 16,520
Al 38,560

307 21240 55,080 104,729 A 49,649
< 16,520
Al 38,560

11T M SXASE EX 55,080 104,729 A 49,649
OFUQLAANES SMIL SEE 55,080
< 16,520
Al 38,560

SO - A - E=0Al4 MEQ FAZ A 85,410 85,410 0

301 et A= 85,410 85,410 0

01 M3IBZE 06z 85,410 85,410 0
OFOH - Hal - =HOAIL MBO I A 85,410

ANLZOH(ER) S 22 104,961 102,000 2,961
< 51,000
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D MESTIN
e EXsd

AN =EXAME XN )
= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
Al 53,961
307 21201 A 104,961 102,000 2,961
< 51,000
Al 53,961
11T MISAASER 104,961 102,000 2,961
OALZOHCH(ER) SANZ 2Y 102,000
< 51,000
Al 51,000
OMSIEXAEEAXHSIHL 2,961
ZOoel o2t =S A 253,800 194,400 59,400
< 50,760
Al 203,040
307 gl & 253,800 194,400 59,400
= 50,760
Al 203,040
11T M Z2XAIS EX 253,800 194,400 59,400
OZOe OrA=Ss ALY 253,800
< 50,760
Al 203,040
ZoHo ME=22E 29 120,000 120,000 0
307 21201 A 120,000 120,000 0
05 RIZt2IEt = 120,000 120,000 0
OFMe HE==2E 2¢ 120,000
Zoel HAE(HL) HEAE X 134,400 112,800 21,600
< 6,086
Al 128,314
307 21201 A 134,400 112,800 21,600
< 6,086
Al 128,314
10 AL SXNAIEEE2EHEX 134,400 112,800 21,600
OFOH HE(OHL) HFAIE K& 134,400
< 6,086
Al 128,314
ZOHQ XNATHEALE JIsESL 204,600 0 204,600
= 102,300
< 30,690
Al 71,610
402 RI2EX=201 A 204,600 0 204,600
= 102,300
< 30,690
Al 71,610
01 It 2 AL B X 204,600 0 204,600
OZOL XNAMMEALE JISEL 204,600
= 102,300
< 30,690
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PN HESIIB

g Foje sxsd

&2 ZoHe SXAE K& (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | Al 71,610
ZHA=ETAE &5 & JIsEL 138,000 308, 158 A 170,158
= 19,000
< 39,500
Al 79,500
ZOHAXAASTHEAE JIsE2S 100,000 103,800 A 3,800
< 30,000
Al 70,000
402 RI2FX =01 M 100,000 103,800 A 3,800
< 30,000
Al 70,000
01 It ALHEE X 100,000 103,800 A 3,800
OFHOMUAXISAMITHEAAL JIsES 100,000
< 30,000
Al 70,000
FAURAANLISEZ 38,000 0 38,000
= 19,000
< 9,500
Al 9,500
402 RIZ2HXt201 ™ 38,000 0 38,000
= 19,000
< 9,500
Al 9,500
01 A TtEAEEX 38,000 0 38,000
OZJURLYANE JIsEH 38,000
= 19,000
< 9,500
Al 9,500
HE2IZH (ME=STD) 696,273 811,633 A 115,360
lHAIH(ME=ST ) 571,915 678,829 A 106,914
oleE2IAH (MESX1) 571,915 678,829 A 106,914
101 @124l 571,915 678,829 A 106,914
01 2= 571,915 678,829 A 106,914
QA2 R+ 571,915
@52 11,5913 «4F «50Al 2+ 12 27,819
6= 9,886& *25H «50A| 2t 12& 148,290
o= 8,930 *66H *50Al 2t+ 123 353,628
[ Jor= 8,017 «3Z x50Al 2tx12& 14,431
QLRSS 22K 8,930& 2 x4 A| 2+ +6L 429
@ X ME = 2 71,7813 «4H «582 16,654
OX N (FL2RT )
561,248,832& »1.9% 10,664
Jl2Zd(4g=sx) 124,358 132,804 A 8,446
22 (4&g=X1) 124,358 132,804 A 8,446
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